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QUESTION 1

At the end of a terraform apply operation, what is the default output? 

A. nothing by default 

B. statistics about what was added, changed, and destroyed 

C. the entire state file 

D. statistics about what was added, changed, and destroyed, and the values of outputs 

Correct Answer: D 

Reference: https://www.terraform.io/intro/getting-started/outputs.html 

 

QUESTION 2

Which two statements about file storage service (FSS) are accurate? (Choose two.) 

A. FSS leverages UNIX user group and permission checking for file access security 

B. Encryption of file system in FSS is optional 

C. Identity and Access Management (IAM) controls which file systems are mountable by which instances 

D. Security lists can be used as a virtual firewall to prevent an instance from mounting an FSS mount target within the
same subnet 

E. Data in transit to an FSS mount target is encrypted 

Correct Answer: AD 

 

QUESTION 3

You are about to upload log file (5 TiB size) to Oracle Cloud Infrastructure object storage and have 

decided to use multipart upload capability for a more efficient and resilient upload. 

Which two statements are true about multipart upload? (Choose two.) 

A. Individual object parts can be as small as 10 MiB or as large as 50 GiB 

B. While a multipart upload is still active, you cannot add parts even if the total number of parts is less than 10,000 

C. The maximum size for an uploaded object is 10 TiB 

D. You do not have to commit the upload after you have uploaded all the object parts 

Correct Answer: AC 
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Reference: https://docs.cloud.oracle.com/iaas/Content/Object/Tasks/usingmultipartuploads.htm 

 

QUESTION 4

Which two statements are true about encryption on Oracle Cloud Infrastructure (OCI)? (Choose two.) 

A. By default, Object Storage and Block Storage are encrypted at rest. 

B. A customer is responsible for data encryption in all services of OCI. 

C. By default, DBCS offers an encrypted database. 

D. By default, NVMe drives are encrypted but the block volume service is not. 

Correct Answer: AC 

Reference: https://cloud.oracle.com/storage/object-storage/features 

 

QUESTION 5

You deployed a compute instance (VM.Standard2.16) to run a SQL database. After a few weeks, you 

need to increase disk performance by using NVMe disks; the number of CPUs will not change. As a first 

step you terminate the instance and preserve the boot volume. 

What is the next step? 

A. Create a new instance using a VM.DenseIO2.16 shape using the preserved boot volume and move the SQL
Database data to block volume 

B. Create a new instance using a VM.DenseIO2.8 shape using the preserved boot volume and move the SQL Database
data to NVMe disks 

C. Create a new instance using a VM.Standard1.16 shape using the preserved boot volume and move the SQL
Database data to NVMe disks 

D. Create a new instance using a VM.DenseIO2.16 shape using the preserved boot volume move the SQL Database
data to NVMe disks 

Correct Answer: A 

Latest 1Z0-932 Dumps 1Z0-932 Practice Test 1Z0-932 Braindumps

Powered by TCPDF (www.tcpdf.org)

Latest 1Z0-932 Dumps | 1Z0-932 Practice Test | 1Z0-932 Braindumps                                3 / 3

https://www.pass4itsure.com/1z0-932.html
https://www.pass4itsure.com/1z0-932.html
https://www.pass4itsure.com/1z0-932.html
http://www.tcpdf.org
https://www.pass4itsure.com/1z0-932.html
https://www.pass4itsure.com/1z0-932.html
https://www.pass4itsure.com/1z0-932.html

